Phys102: #40) Quiz #4 (Ch.19)
Name: Koy ID #

1- Three moles of an ideal gas expands isothermally at 100 °C to four times
its initial volume. Calculate the heat transferred during the process.
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2- A cylinder contains 4 moles of a diatomic ideal gas at a temperature of 27
°C and a pressure of 1.5 atm. The gas is heated under constant pressure until
its temperature reaches 127 ‘C. How much work is done by the gas in this

3 process? W 2PAV = nR 0T
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3- One mole of a diatomic ideal gas is initially at a temperature of 127 C
3
%  and has a volume of 0.090 m . The gas is compressed adiabatically to a
3
volume of 0.045 m . What is the final temperature?
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